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':ase correctly fill your Roli Number in O.M.R. Sheet.

2 Ndidate will himself be responsible for filling wrong Roll No.

tthe stan of the examination, before attempting the

?\UGS“‘)” Paper kindly check your test booklet and O.M.R.
Nswer Sheet angd ensure that:

The serial numbers of test booklet and O.M.R answer sheet
are same,

Al Pages of test booklet and O.M.R. answer sheet are
Properly printed. All questions from S. No. 1 to last S. No. 100

are printed and pages from S. No. 1 tolast S. No. 16 are there |

n o In the question booklet.

immeadse of any discrepancy/ defect the candidate should
; ately report the mater to the invigilator for replacement of
est booklet and O.M.R answer sheet. No claim / objection in this

régar d will be entertained after five minutes of start of examination.
Candidate will be liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is 1o be given for each question.

6. If more than one answers are marked, it would be treated as
wrong answer. '

7. There is no Negative marking.

8.  Eachquestion has four alternative responses marked serially

- as (A), (B), (C), (D). Candidate has to darken only one circle

or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,

strict action will be taken by the Board against him/her as per |

rule. .

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in hisfher possession, F.I.R. would be lodged |

against him/her in the Police Station and he/she would be liable to
bg prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar

him/her permanenliy from all future examinations of the Board.
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"Th.e Peacock Throne” was made during
which Mughal ruler’s reign?
(A) Jahangir

(B) Humayun
(©) Shah Jahan

(D) Akbar

ﬁmﬁ‘mm%wﬁwﬁaﬁm
T Fmtor Ry ey o '
(8) wreriv (B) gy

(C) wmresTe} (D) arpax

Which of the following pairs of major cattle

fairs and their related sites in Rajasthan is

not correctly matched?

(A) Shri Chandrabhaga cattle fair -
Jhalrapatan, Jhalawar

(B) Shri Mallinath
Barmer

(C) Shri Baldev cattle fair - Karauli .

(D) Shri  Gogamedi cattle fair - Nohar,
Hanumangarh

cattle fair - Tilwara,

SN oM & s gt @ 9T

e Wﬁﬁaﬁquaﬁ%ﬁqﬁﬁ?_

(A) 5Tt T O Hell — STERTIIES, SeTars
(B) =0t weefirr Uy e — fearer, e
(©) 5 Terdg 3 Hemm — e

(D) &1 RIS U el — AIER, §IAFTE
“Bamrasia” is a famous folk dance form of
which region?

(A) Alwar - (B) Shekhawati
Bharatpur ‘
(C) Mewar (D) Vagad

“qERRTT B ¥ 8 BT AT &7

(A) 3eTeR — WX (B) ImEre

(C) #ars (D) arrs

In which event of Tokyo Paralympics -
2021, Avani Lekhara won Gold Medal?

(A) Shooting (B) Javelin Throw

(C) Discus Throw (D) High Jump

TR WRTeAfag—2021 ¥, 3N owvr 7 fory
i ¥ el ged Sirdr?

(A) rfar (B) el Wb
(©) few Ba (D) & @x
106-B ¥
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5. Which one of the following is the largest

(Area-wise) agro-climatic ~ zone  of
Rajasthan?

(A) 11-A (B) 1I-B

(€) I-C (D) 1-B

fy=rforRea ® § ®IF AT ﬁfﬁ—m g
ErBeTaR) RTeReT # Had a7 27

(A) 11-Y (B) 11-41

(©) 1< (D) I-4T

Which one of the following (Wildlife

Sanctuary District/Districts) is not

correctly matched?

(A) Phulwari Ki Nal - Udaipur

(B) Todgarh Raoli - Pali, Ajmer and
Rajsamand

(C) Bassi - Chittorgarh

(D) Band Baretha - Alwar

frafafaa & @ s (G=aoild JITIRTT —
Rrer / Rrer) el gifera =& 22

(R) Bofarl BT ATl — ITAYY .
(B) STeTg I@ell — UTedl, 3R 3R Vo=
(©) sl — feiee '
(D) 91 qRBT — areray

‘Rindhrohi’ is composition by -

(A) Chandra Prakash (B) MaI_chand Tiwari
 Deval

(€) Arjun Deo Charan (D) Paras Arora

R=_EY fraa = 27

(A) F5H®Te <ad (B) WrerEs foar)
(©) 3fed aReT (D) Urew 3Ry
The Vindhyan scarplands are part of -
(A) South Eastern Rajasthan Plateau
(B) The Northern Aravalli Range

(C) The Southern Aravalli Range
(D) Mahi Basin

ﬁ'ﬂﬁwiﬁﬁ%ng_
(A) <Py qdt Yoo vaw @
(B) 7t e sjwen wr
(©) <ferelt aRraeh siaan @
(D) w1eY R
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10,

11,

12.

13.

14.

an

15. Which amongst the following is B

ornament of the neck?

(A) Amla (B) Timaniya

(C) Mandaliya (D) Kanthala
NIRRT 3 W e g A T
SATen?

(A) sifaen (B) femfordn

(C) wiaferan (D) wigell

As per the recently released UNESCO 202(1)
State of the Education Report, the access
the internet in schools all over India is °
(A) 22% (B) 29%
(C) 429% (D) 19%

3iih

T & § W qﬁmzom@f 7
g U@ ﬁ@ﬁf%a@‘ﬁﬂ ol ARA

faermerdl § gexe # ugd € —
(A) 22% (B) 29%
(C) 42% (D) 19% .

Which of the following (Place - Rebel
Leader) pair is not correctly matched?.

(A) Kanpur -Begum Hazrat Mahal

(B) Rohilkhand - Khan Bahadur Khan

(C) Allahabad - Liaquat Ali

(D) Jhansi - Lakshmi Bai

sEhfefae § ¥ P (e — e ")
g e gaferd T8l 27

(A) HTHYR — 4T FORT Hecl

(B) Afgar@s — @ q8IgY @A

(C) saeTaTe — ferared 3l

(D) i — g

“Ratwai” folk dance'is related to -

(A) Mewat Region  (B) Malwa Region

(C) Mewar Region (D) Hadoti Region
AT A g W & -

(A) Far & | (B) HrerT &= 9

(C) ars &= % (D) eIt & &
Who has composed the “Rao Jaitsi Ro

Chhand"?
(A) Suryamal Misran (B) Beethu Suja

(C) Chand Bardai (D) Muhnot Nainsi
'@ At W v B A § -

(A) giwew fasor - (B) €9 <o

(C) 7= aXaTg (D) TEvirey “yorey

( ashuPata Shaiva sect was propounded by -
© Madhvac:harya (B) Ishan
Sl"é’mkaracharya (D) Lakulisha
::P;’Iqﬁ % Y19 TwET @ yaes o —
o, ATy (B) ¥
) FMRra (D) FraferT
(M)and was the ancient name of - .
© Karauli (B) Bundi &é
Pratapgarh (D) Jaisalmer %
TS el =1 o —
(R) Freht a7 (B) 3 @1
©) v -5 (D) SreRR @1
Whlch is the only continent through which
the Tropic of Cancer, the Equator and the
Tropic of Capricorn pass?
(A) Asia (B) North America
(©) Africa (D) Europe
TITHT T H1F HETEN & R 3 ¥, T 17.
Y& 3R HER YT e #7
() Tirar (B) ST s
(C) arpier (D) 7RM™
India’s first manned ocean mission is
named as -
(A) Vishnuyan (B) Samudrayan
~ (€) Matsyayan (D) Varunyan
HRG & Y9 HFEggad 9erarR AeE &1 9H
-
(A) fepar (B) HH5IT
(C) Fo=a= (D) gHvrETE
The bank of Mahi river is called - 18.
(A) Chappan (B) Kanthal
(C) Deval (D) Thali
ardY 8 &1 fFART FEeTEr § -
(A) BT (B) ®loe
g © orch
Leading Lac producing state in India is - 19.
(A) Madhya Pradesh (B) Jharkhand
(C) Chhattisgarh (D) West Bengal
e # waifs o SWEd ol § -
(A) FETT (B) SRS
(C) BT (D) gfer qITe
Page 3 of 16



20.

21.

22.

23.

24,

106-B 7%

Krishak Kalyan Kosh” has been constituted

ON.......in " Rajasthan for '
— or ‘ease of, doin
farming’ for the farmers. g

(A) 16th December, 2019
(B) 26th January, 2019
(C) 16th August, 2018
(D) 16th August, 2017

ISR # 50T 3 9fYy 3 amardt & R
TID T By W ez
T 7
(A) 16 fewm=, 2019 @
(B) 26 T=adl, 2019 =
(©) 16 3rra, 2018 &t
(D) 16 arre, 2017 &
‘Ring of Fire’ is located at -
(A) Pacific Ocean (B) Arctic Ocean
(C) Indian Ocean (D) Atlantic Ocean
T 3if SRR’ sraRerg & —
(A) o<1 e TR ¥ (E) BT HETHANR
5
(D) sreanfies
TERIFR |
The ‘Damore’ tribe is mostly found at -

(A) Dungarpur  and (B) Kota and Baran
Banswara
(C) Bhilwara

(C) fevg weraTR #

(D) Pratapgarh

TR Sonfa Afdrear grfy oI & —
(ﬁ)waﬁqm(a) PieT 3 AR H
H

(C) frerarsT # (D) wamTe A
Brown Waterfalls are situated in -

(A) Switzerland (B) New Zealand
(C) Peru (D) Norway

FT9 el guTd del fRerd 87

(A) Racorars (B) ~ufieivs

(©) 7% (D) =ifd

World famous “Old Faithful Geyser” is

located in-

(A) Iceland

(C) United States
of America

(B) Japan
(D) New Zealand

faeq wftg “oles Gewe Mo eaftyd & —
(A) argqavs #  (B) ST A
. J q
(C) wga U (D) <frAvs
AR

25.

e
i

)

ANDNAALTNA
UL U

26.
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.(©) Trilochan Singh

|1 and select th,

ist—] with List-
Match Lis de given below .

nswer using the co
ist-1 (Lake

1. Talab-e-Shahi -

2. Gaib Sagar &f‘

3. Kadana

4, Hemawas

i. Pali

ii. Banswara

iii. Dholpur

iv. Dungarpur

Code-

(A) 1-(ii), 2-(iii), 3-(i), 4-(iv)

(B) 1-(i), 2-(ii), 3-(iii), 4-(iv)

(C) 1-(iii), 2-(iv), 3-(ii), 4-(i)

(D) 1-(iii), 2-(ii), 3-(iv), 4-(i)

-1 1 11 ¥ i i e i fiy
TQ FE B ST FRA Y el STN BT A
= -
i Gl LEIG VA L)
1. dTeTa—g—amE

2. 9 IR

3. dsIom
4, gHTA
-1 (frem)
i el
ii. argreT
iii. €egR
iv. §TRQY
?3—&:_
(A) 1-(ii), 2-(iii), 3-(i), 4-(iv)
(B) 1-(i), 2-(ii), 3-(ii), 4-(iv)
(©) 1-(iii), 2-(iv), 3-(ii), 4-(i)
(D) 1-(iii), 2-(ii), 3-(iv), 4-(i)
‘Padma Bhushan Award’ for the year 2020-
21 in the field of civil service is awarded to -
(A) Sumitra Mahajan (B) Nripendra Misra

(D) Krishnan Nair

a4 2020-21F far fifaer dar @ er 4 ‘weH
T PR YSH far may & —

() =T /e 351 (B) g s )
(©) et fie @1 (D) pwm w3




2T Wh ’
0 wrote a book entitled ‘Rajput Painting’

28.

29.

30.

106-B ¥¥

in 1916 A.D.?

(A) Vachaspati
Gairola

(©) Raikrishan Das

(B) Ananda
Coomaraswamy
(D) Jai Singh Neeraj

TG W e W 1916 £ ¥ R e
fored?

A

W) Tt e (@) o g i
O vaporre (O vt e

) QQ:E-
Which Indian site is included in UNESCOC™
world heritage list in July, 20217 o
(A) Qutub Minar -

(B) Meenakshi Temple

el
(C) Corbett National Park oy

Ly
(D) Ramappa Temple «y

e

nq:p-
ART BT B A A e, 20211??;@%12::4)
3! faeq faxmad & # wife far T 87
(A) Fga ¥R L
(B') A Hfex -
(C) Fiie I SaH A
(D) <P AR o
Rao Rai Singh was called 'Karna of;_:l{l
Rajputana’ by - )

i
(B) Chintamani Bhatt .(;.-
(D) Gangananda

(A) Bithu Suja
(C) Munshi Devi

Prasad ~ Maithil ‘3;
ra <rfiie @Y R @1 @ R TE?CO
(A) firg g (B) RemfT g o
©) 5eh &y (@) T ARw O

The depiction of hunting by women 155:1
characteristic of which painting style?
(A) Jodhpur Style (B) Uniara Style
(C) Kota Style (D) Mewar Style

iRt gRT RTER Fwd g ferr fo ferme

31.

32.

the
Match List-l with List-1l and Chogse?o\ﬂ’

correct answer using the code given
List-1 (Book)
i. Amarakosha ™
ii. Kavya Mimansa ﬁi‘;
iii. Brihatkatha
iv. Svapnavasavadattam
ist-1I (Writer
a. Bhas
b. Gunadhya
c. Amarasimha
d. Rajashekhara
Code- _
(A) i-(d), ii-(a), iii-(b), iv-(c)
(B) i-(a), ii-(b), iii-(c), iv-(d)
(C) i-(c), ii-(d), iii-(b), iv-(a)
(D) i-(d), ii-(a), iii-(c), iv-(b)

— T —uﬁger%ﬁa?rmqef:ﬂ—rﬁﬁt'
= WWWG@WWW

Fe—
(A) i-(d), ii-(a), iii-(b), iv-(c)
(B) i-(a), ii-(b), iii-(c), iv-(d)
(C-) i-(c), ii-(d), iii-(b), iv-(a)
(D) i-(d), ii-(a), iii-(c), iv-(b)

Which one of the following (Breed -
Livestock) is not correctly matched?

(A) Kankrej - Cattle  (B) Lohi - Buffalo

(C) Barbari - Goat (D) Chanothar - Sheep

e H W S (T~ )

Sf @Y g &7 gifera =181 €7 | y
(A) iergy ¥l (B) v dell (A) Fidvsr — e (B) Al — i
{ - (D) TR — Wz
{ (D) #arg drell (C) axadl — A S
) v 8 i
Page 5 of 16
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33.

34.

35.

36.

The Institution which was not the part of the
group that developed 5Gj technology is -
(A) 11T - Hyderabad

(B) 11T - Bombay
(©) IIT- Madras

(D) Cer_lh‘e of Excellence in Wireless
Technology (CEWIT)

'ﬂmaﬁsciaﬁﬁzﬁaﬁﬁ%ﬁﬁmaﬂ#m

e &1 fRwar w5} oy —

(R) g Mg A - Bavmre

(B) g o & — g

©) I A - g

(D) ¥eR i UaRie 391 R SaiTo
(CEWIT)

Who was the British Political Agent in the

Bharatpur state at the time of revolt of
1857?

(A) Morrison (B) Burton
(C) Mason (D) Shawers

1857 &1 whifd & |9y wRayx Ramad # fafew
Yiferfese goie B9 a1?

(A) HiRk¥= (B) g+

(€) #+ (D) wmeret

Which Lok Devta is worshipped as “God of
Camels” (Oonton ke Devta)?

(A) Pabuji (B) Tejaji

(C) Ramdevji (D) Devnarayan ji

P 9 oid <gdT B el B qadr’ B By
¥ ger W &2 ‘

(A) s (B) Tt
(C) YrHEgwll (D) ZgETRTIT Sl
What is ‘Pal’?

(A) Farming done by tribes
(B) Sahariyas’ settlement
(C) Meenas’ settlement

(D) Bhils’ settlement

qrer fd Fed 87
(e)mm'ﬁﬁmmﬁ
(B) weRamil @1 a%il

(C) Hromaii B awdl

(D) et @51 gl

106-B ¥¢

37. Match List-I with List-11 and select the

correct answer using the code given below .

List-1
. Khamsin

. Bora @

Loo

BWoNn e

. Harmattan
List-11
. West Africa

. Egypt
c. Adriatic Sea

o P

d. Northern Plains of India
coid

(A) 1-(b), 2-(c), 3-(d), 4-(a)
(B) 1-(a), 2-(b), 3-(¢), 4-(d)
(©) 1-(d), 2-(c), 3-(b), 4-(a)
(D) 1-(c), 2-(a), 3-(b), 4-(d)
=1 1 113 Frerr BT e+ feg
Y S R Y
W -

-1

1. @[

2. 91

3.9

4. &

-l

a. URTHY IMBIHT

b. fra |

c. ufgafe®s |nR

d. ST 9Rd & AgH

e
(8) 1-(b), 2-(c), 3-(d), 4-(a)
(B) 1-(a), 2-(b), 3-(0), 4-(d)
(€) 1-(d), 2-(c), 3-(b), 4-(a)
() 1-(c), 2-(a), 3-(b), 4-(d)

Page 6 of 16



38.

39,

40.

41.

106-B ¥¢

As per the State Budget Speech 2021-22,
Rajasthan Institute of Advanced Learning will
be established as a Deemed University in -
(A) Jaipur (B) Kota

(©) Ajmer (D) Jodhpur

XIS q91C 91991 2021-22 % $ive fvafieerd
B Y F o 2 A Pl T |
ST Y oI et vey ) weom o) €7
(A) SR (B) HYey
EC) ISR (D) gy
Swasth Dhara Khet Hara” is the tagline of -
(A) Pradhan Mantri Krishi Sinchai Yojana
(B) Paramparagat Krishi Vikas Yojana
(C) Soil Health Card Scheme
(D) Sub-Mission on Agro-forestry
"R ORT WA BT AN R —
(A) gu=m=h S RiarE dromr @
(B) Rr T Rem domr @t
(©) 721 wWreg FE Ao H
(D) PR—a1F® R ST—fem @
As on December 2020, the installed power
capacity of Rajasthan is -
(A) 20613 MW (B) 21836 MW
(C) 19764 MW (D) 21148 MW

e R 2020 7%, e @ vafia fEgg
EHOT & —

(A) 20613 MW (B) 21836 MW

(C) 19764 MW (D) 21148 MW

Study the following statement and answer the.
question given below,

Some friends are sitting on a bench. A is sitting
next to B and C is sitting next to D. D is not
sitting with E. E is on the left end of the bench
and C is on second position from right side. A
is on the right side of B and to the right side of
E. A and C are sitting together.

A is sitting between -

(A) Band D (B) Band C

(C) Cand D (D) Eand D

frafeRaa @oF @1 ufey siv =g v v g
T TR ST |

%o 5 0% 99 W48 €| A, B g Ja7 @
3R C,D® U 2| D,ES |y 781 da71 21 E
g & 9 TRE D BN G 87 & &R C erh
IR W G WIH W IST 8| A, BS ol 3N &
3IRE® S 3R 8| A 3R Cuas Wiy 4d ¢ |
Ada ¥ de1 ' — '
(A) B3iIRD &
(C) C3IRD S

(B) B3R C 7
D) EaR D@

2. Here, a statement is followed DY

, commonly known facts. Read all

Page 7 of 16

four

d v. Yo

conclusions numbered I, 11, 11l an
) o be trué

have to take the given statements t
ﬁ.om the

. the

even if they seem to be at variancé

conclusions and then decide whic

the
given conclusions logically follow from

given statements, disregarding commonly
known facts. ‘
Statements : Some Jokers are man. NO' '.“a"
is cycle. ﬁg
Conclusions : (I) No Joker is cycle.
(I1) No man is Joker.
(I11) Some Jokers are cycles.
(IV) Some men are Jokers.
(A) Only I:and 111 follow
(B) Only IV follows
(C) Only I, Il and 1V follow

(D) All follow

TEl, VS B & uvar 4 sy | 10, 11 Tg
IV &) Smoet R e et @ wer e
& 0 @ 3 W i qe & B )
Fepst & 4S9 W/3F @ afFs wg @
fae weoml @1 oY B & W g
Tl BT STl B Y |
U : BB AR TV T | B A oy
wsfder T8l 2| _
fresd (1) éﬁéwﬂmwmmﬁg,
(1) 1% N Tou, ey =8 3,
(11I) F& 7GR, AEfm ¢ |
(IV) & Jo0, o §)

(R) @rae 1 a1 3RO B & |
(B) waet 1V argaver & @)

(C) @t 1, 1] e IV IR ey &
(D) w7l 3R ol € |

-\—\\;

—



43.

44,

45.

:)1; ;cl}:lzsfgllowing figure, the number in place
ion mark sign wij
&sxgn will be -

(A) 125 9_ (B) 216

(C) 27 (D) 64

In a certain code language, “123” means “hot
filtered coffee”, “356” means “very hot day”
and “589” means “day and night”. Which
digit means “very”?

(A6 (B 5

©s3 - (D) 9

v AfRed o W §, “123" &1 #aeE “hot
filtered coffee”, “356” &1 Hded" “very hot
day” 3R “589’ Hfelg “day and night” gl
B A 3P B “very” 87
(A} 6 O (B) 5
©) 3 :;_ @9
Following quPstion is based on the
information p ded below -
(1) ‘A x B’ meangs-A is mother of B'.
(1) ‘A - B’ means ‘A is brother of B'.
(111) ‘A + B’ means ‘A is sister of B".
(IV) ‘A + B’ mefii3 ‘Ais father of B'.
How is K relateddo M in R+ M - K?
(A) K is either lether (B) Daughter

or sister of ¥
(C) Son (D) Nephew
o weA A %I’s’ e R STIRE ® -
(1) ‘A x B @1 ST A, B# 411 &1
(1) ‘A - B' &1 3w A, B &1 uTg B
(I11) ‘A + B &7 3ifAuTa A, B! 967 & |
(IV) ‘A= B’ 1 9T A, B&d faar €1
R-M-K 3 KM% fd s wrafad &7
(A) K, M @ a1 sieran(B) A

g ' ‘
(©) A (E'J) AT B

46. Here, som

47.

48.

49.

e of the letters are missing which
order as one of the

are given in that
e the correct

alternatives below it. Choos

alternative -
w_yzwwx_yy_zww_xxx_yy_zz

(A) yyzwyx (B) yyxwyz
(C) xzxyww (D) xxzWyz
Ry § 9 @ fr TR ggl faden

a -
w_yzwwx_yy_zwwﬂxxx_yy_zz
(A) yyzwyx ' (B) yyxwyz
(C) xzxyww (D) xXZWYZ

i in a certain code language, DAN = 357,
SON = 458, LOTS = 1248; LOAN = 1345;
SCOTLAND = 12345678, then code of “C" is

equal to -
(A) 5 (B) 6
(C)7F . (D) 4

v fftaq @e wmr #  DAN = 357
SON. = 458, LOTS = 1248; LOAN = 1345;
SCOTLAND = 12345678, @l “C" &1 ®¢ IR
g -

(A) 5 (B) 6

€7 (D) 4

Find out the wrong'term in the following
number series -

325, 259, 202, 160, 127, 105, 94

(A) 202 (B) 259

(C) 127 (D) 160

Pyt ez Ao W Ter Tw ST @Y —

325, 259, 202, 160, 127, 105, 94
(A) 202 (B) 259
(C) 127 (D) 160

Count the number of triangles in the figure
below:

/N
(A) 15 (B) 17
(C) 16 (D) 13

Ry o fors # Fangelt @ wer MR :
\

(6) 15 (B) 17
(C) 16 (D) 13

106-B 7%
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50.
?CU‘DE of side 10 cm is coloured red with a | 5% If a regular hexagon and
!Cm wide green strip along all the sides on triangle has equal perimeters oy uil teral
all the faces. The cube is cut into 125 smaller of areas of regular hexagon and €4
lebes of equal sizes. How many cubes hav&_ triangle is -
?Seast one face coloured? % (A) 8:5 (B) 5:4
)76 (B) 89 w (©) 2:3 (D) 3:2 -
© 102 (0) 98 o s v g 7
<t afe s FIe hEd B
S sk R e 2, T A T
T B W 10 WAL qeN A @ = % syl Pl S B -
WW@WW?1WWH7TWW (A) 8:5 (B) 5:4
a?lg-sméa—rﬁr‘iaﬂaw%lam'éaﬁ_ (©) 2:3 (D) 3:2
UF @ g wae a R o & % 55. The pair of straight i
(A) 7 , - The pair of straight lines ) ine
i 122 (B) 89 (@] x2—dxy+y* =0 together with t_he .1"_1
51 s < X +y + 4v/6 = 0 form a trianglé which 19
© The number of terms in the expansion of\ (A) right isosceles  (B) scalen¢
[(x —3y)2(x + 3y)?P is - g (C) right angled but(D) equilateral
(A) 6 (B) 14 — not isosceles
© 7 (0 8 e Sl — it = 13T
(x - 3y)2(x + 3y P 3 chytaE=0 B T P
SR | wmE e -
e § - £ (g) B fgarg (B) FATE
(A) 6 (B) 14 o (C) T dife (D) §HATE
(C) 4 o ! !
7 (D) 8 o) | 56. A metal sphere of 8 cm radius is melted and
52. The difference of 65% and 35% of the samg i small balls of radius 0.5 cm are being made
number is 22.20, then 50% of that number | from it. The number of small balls are -
is - N (A) 2744 (B) 1728
(A) 65 (B) 32.5 %| (C) 3375 (D) 4096
Cc
) 74 (D) 37 L g A Broar 9T we urg B el i e
et W  65% T4 SR WEA B 35% T, o § SR S g 0.5 WAL e @
sfav 22.20 ¥, @ 9O FEAT BT 50% T - Qo A i) B, Sl el
E (A) 2744 (B) 1728
(A) 65 (B) 32.5 . (€) 3375 (D) 4096
(C) 74 (D) 37 57. The number of ways of arrangements of 10
53. |fp+ % < S omdas % =1, thenabc=7 persons in four chairs is -
(A) 4 (B) 2 (A) 6000 (B) 4050
(©) -1 (D) Cannot be (€) 5040 (D) 5020
determined &
10 efoera 4 PR W e .
afe b+ l=1Taa+ =18 dabc=? ) W
c b arqfRerd (d9am) I AHET 87
A (B \
(A 4 te (&) 6000 (B) 4050
C)'= (D) =g A2l FR Hbd
(€) -1 ,) IGECEIICA LR (©) 5040 (D) 5020
1 06-B r'/‘( Page 9 of 16 T TTTT——



58.

59.

60.

61.

Day is celebrated on -

On throwin .
sum of the r;gutwl;) dice, the probability that 62. Rajasthan Foundation
is - mbers on the faces is 7 or 11, (A) 23rd March (B) 0314 March
(A) 2 ®) (C) 315t March (D) 30" March
9 -
€ L (D) > - o R f&ad HA STl & -
2 ql; 6 &E (A) 23 T4 (B) 03 ATH
BB W S} oy
S B wifyear & — S A 7 1 (©) 3174 e
o % (B) 7 63. yUnder which article of Fhe Ix?djan
(€) 1 36 Constitution the Chief Minister is appointed
0 18 (D) ; in Rajasthan? , '
i (B) Article 350
A bag contai ; (A) Article 60
25 paise in ;Sec:a:;f) OFf :1, 50 paise and (C) Article 270 (D) Article 164
. of 2:3:5. If the t ; 3 =3
value of these coins is ¥ 228 th:n ‘;;a! ydm dfem @ fea agwd @ dEd
?:)mber of 50 paise coins in that bag is- o ¥ A @1 g e 87
240 . (B)
(©) 96 D) 1‘24 (A) 3= 60 (B) /=& 350
TH 9 7 1%, 500 3k 2599 @ R (C) arg=de 270 (D) BT 164
2:3:5 @ I ¥ ¥ | IR 39 fyawi @7 Hel 64. provision of appointment of State
22 : .
3:7_ 8; g, O 99 I ¥ 5009 @ Ryaw Governors by the centre, has been taken
(A) 240 (B) 48 from -
(C) 96 (D) (A) United States of(B) Canada
> e America
The Harmonic Mean (H.M.) of the roots of
the equation (5+ ﬁ)xz e (i \fg)x s (C) Ireland (D) Switzerland
(A8+2\/§)=Ois- T @ oguEl @1 b gw Fgfad @
ik (B) 6 wTaeE BT foraT T R —
- (C) 2 (D) -4 -
HYHRT 5 ARSI (B) FHATST A
FHEr (5 +V2)x2 — (4 +V5)x + ?}I' .
(8+2V5) =0 & HaA! BT EXITD " B .
(A) 8 ®) 6 -()amvﬁvaﬁ (D) RaewiRars A
() 2 o 65. How many seats are reserved for Scheduled
How many members are there in District Tribes in Rajasthan Legislative Assembly?
Planning Committee in Rajasthan? (A) 33 (B) 24
(A) 35 (B) 40 (©) 28
(©) 30 (D) 25 (D) 22
o # foren smareer @Al d e ORI UM w1 # fasy ue R
| BN 87 ST B arRfe €2
(A) 35 (B) 40 (A) 33 . (8) 24
(©) 30 (D) 25 (©) 28 ©) 22
ok —
106-B ¢ Page 10 of 16



66.

67.

68.

69.

106-B ¥¢

- (C) Ta[‘a Bhandari

Who |
S the
&?nagementiﬁi Of the District Disaster
(8) CEO (Zilg pgpy Y7
Commi
(C) S .Ssmner Municipal Corporation
of police

) foren B
WhO a
. m -
mCUmbenOtnogf t:lt]he fO.UOng was not an
(’)mmission? € Chairman of State Women
et
IMa Vyas (B) Lad Kumari Jain
(D) Kanta Kathuria
ST ARET sty
T T | T I Ug N P A
::)fﬁﬁtﬁrtara (B) TTg AT o
$) AT syoergy (D) wpiar weyRam
W}}en did Ajmer become 2 Sixth Division of
Rajasthan?

(A) 1991 (®) 1987

(C) 1982 (D) 1977
TR XIS &7 BT WURT &g g+7°
(A) 1991 (B) 1987
(C) 1982 (9)1977

Which of the following is incorrect

statement?

(A) Remuneration of the Advocate General is
determined by the Governor.

(B) Advocate General for the state is
appointed by Chief Justice of High Court.

(C) It shall be the duty of the Advocate
General to give advice to the
Government of the state on legal
matters.

(D) The Advocate General shall hold office
during the pleasure of the Governor.

=t ¥ B T HAT Teld 87

(A) FETiREadT &1 UIRAfME TS §N
fyuifRa faar S & |

(B) 3757 & weTaa @ fAgfaa S =are
& g A R B O 8|

(C) FeTeEa @1 % e B 3 78 W
TR B A A # HeE <

(D) FEIfradd WA @ e TEER

* |

70. Match list - | with list - 11 and id€

ntify the

W
i beIO
correct answer from the code given

(a) Mont-Ford Report &ﬁ:

(b) Motilal Nehru Report

(c) J.V.P. Committee

(d) Morley - Minto Reform
List-11

(i) 1928

(i) 1919

(iif) 1948

(iv) 1909

Code -

(A) a-(iv), b-(iii), c=(ii), d-(i)

(B)a-ﬁvltrtn,c{ﬁﬂ,d-ﬁn

() a-(ii), b-(i), c-(iii), d-(iv) °

(D) a-(iv), b-(iii), c-(i), d-(ii)

A1 1 G113 e g aie = g

MY gHe H A el IR B o BIfory —
a1

(a) Alc—wre Rure

(b) Arirema FEw Ry -

(c) S.drdr. =afafa -

(d) #ei—fHel yur
i - 1

(i) 1928-

(i) 1919

(iii) 1948 -

(iv) 1909°

K =

() a-(iv), b-(iii), c-(ii), d-(i)
(B) a-(iv), b-(i), c-(iii), d-(ii)
© a-(ii), b-(i), c-(iii), d-(iv) -
B a-(iv), b-(iii), c-(1), d-(i)

Page 11 of 16
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71. VS i
In'MS PowerPoint, key used to run the Slide
Show from the beginning is -
(A) F11 (B) F7
C -
(C) F5 (D) Shift + F5
TR, TR G ¥ e o @ qoen 4
A B TG g a8 iy ey il & —
(A) F11 (B) F7
(9) F5 (D) Shift + F5

72.

Interpreter is used as atranslator for -

(A) High level (B) Low level

language language

(C) C++ (D) COBOL

fera forg =i giveer &) e TN W

AT ST 87
(A) BT% ofaef efawl  (B) &l ciaal oo

73. |EEE - 1394 is -
(A) Fire Wire
(B) Parallel Port
(C) USB Pbl't

(D) Serial Port
IEEE - 1394 8 —
(l:) AR CECIE
(B) PRerer urd
(C) oz dl e

(D) ifRere aré

106-B vr

74.

vvvvvv

- (d) First gene
‘Match of column -

‘=+ (A) Claude Shannon

1 and Column - In

mn - :
r Colu generanons =

Conside puter

context of com
Columil -

(1) Transistors

(2) VLSI

(3) Machine lan

(4) PARAM
olumn - '

(a) Fourth generation

guage

"+ (b) Fifth generation

d generation

ration ;
1 and column - 2 is -

(c) Secon

(A) 1-(b), 2-(d), 3-(a), 4-(¢)
(B) 1-(c), 2-(d), 3-(b), 4-(2)

= (€) 1-(c), 2-(a), 3-(d), 4-(b)
(D) 1-(d), 2-(b), 3-(c), 4-(a)

£ Gl @ wed W - 1ay
w1

- (1) g

BEACASNI
2 (3) e TS
(4) 77

T - 2
(a) el Gy

! (b) wiedt @
) (0) gl did

(d) vEe B

/R - 1 AT T - 2 BT GHA & —
(A) 1-(b), 2-(d), 3-(a), 4-(c)

(B) 1-(c), 2-(d), 3-(b), 4-(a)

(©) 1-(c), 2-(a), 3+(d), 4-(b)-

«, (D) 1-(d), 2-(b), 3-(0), 4-(a)
;' Who built the world’s first electronic

calculator using telephone relays, light
bulbs and batterjes?

(B) Howard H. Aliken

C
(€) Konard Zuse (D) George Stibits

Zellmi e, IS Ieqy aji dEST @1 ganT
AL LT —
fem gam? | |

(A) gcfis 9T
RS Sl (B) 8ias wa. ufera

(€) BI1E ©
GAR]] J I‘H (D.) ‘\H]\J'I ﬁ?ﬁ}g g

Page 12 of 16




hich of
the
rnemoryv ol Wing s used in maijn
4) bpR
©) PrRAN (B) DRAM
(D) SRAM P
2 T AN ¥ gy ST
® bog . 5
(© PRAM oy DRAM %
Which of ! SRaM *
OF th following ; -
appropri g internet service js'*
i ate to accegg the com
office from i puter of your
(A) IRC  m . "
© elnet s
Www (D) Frp -
Pt & 3 o N
o ﬁﬂﬁw—dﬁmmm,f
T TR B W W vaie (e ey o'
1Y Suae 27
(A) a1 ame gy (B) 2orye .
(©) S T Ty, () s &y, : T:
78 Which of the following statement is false? r;
(A) Bar-codes are printed using special ink:-v,E

containing iron oxide,
(B) A bar-code reader uses
scanning technology. -

-
(C) Bar-codes  represents data using
combination of vertical lines. L

(L
(D) On goods, postal packages, books etc. we'r=
use bar-code for unique identification. ‘.':;'

0
o= 9§ 9 19 91 FuF ey 27 £

(A) R FIS @ 9 @ @ wE W e
oy & o s sifeass B
(B) vsh IR FIS TSR ST WHHAT A+

T AT BT & |
() a1z e @S P B wAEE A el B
® prefi FRar 21
(0) T, S—tbaT, A S WS
e T @ T AR B @

Y B |

Lo

: L
laser-beam

106-B 7¥

79.

80,

In context of Ms Word - 2019, consider

following statements - W

I: By pressing Ctrl + N, you can create a n€
document.

IT': The template provides the formats that
give a document jts appearance. 0

Which of the aboye statement is/are trué:

(A) Only 1 (B) Only II
(€) Both land 11 (D) Neither I nor 11

TITH. 9€-2019 & wesf # frey oAl W

fame ¥ )

I:Ctrl+NW3ﬂqWW@WH:ﬂ
Hed & | o

I1:T9e 4 wife 3 & ot v <fagic &
SHBT T Y& vl 2 |

emmaﬁﬁﬁﬁqm/#mﬁﬂﬂ
/8

(A) et | (B) daat 1]

(©) 1 o 11 <Y (D) 7 &1 3R =1 &1 1l

Consider the following ordered sequence of
actions in MS Excel -

(a) Select cell range Al1: E10
(b) Press 100 on keyboard
() Press ‘Ctrl + Enter’

. Choose the true statement, after above

actions -
(A) 100 is entered in cell A1 only.

(B) 100, 101, 102,...150 entered in cells of
the range.

(€) 100 is entered in cell A1 and cell E10.
(D) 100 is entered in each cell of the range,

AT, Tidl H e i 49

W AR & —

(a) 9T N1 A1: E10 %1 =17 %

(b) F1-ar€ w® 100 gaw

(c) ‘Ctrl + Enter’ gard

SH frast B S ad woe &

FY —

(A) 100 Bacr Fer A1 yfie B3 |

(B) V51 &) %aif 4 100, 101, 102
eI |

BT ey

AT

...... 150 yfae

© 100, ¥af A1 72 91 E10 4 g gay

@) ¥ % y@s 3 i 100 giye T |

Page 13 of 16
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81. Fill in the blank with the most appropriate 87. Match the i_diom_s in Column (A) with thejr
phrasal verb - meanings listed in Column (B) -
Raja Ram Mohan Roy urged Indians Column - Idioms -
1« o— untouchability. (a) Ared-letter day Iiﬁ?
(A) do at (B) do away with (b) To smell arat
(€) do upon (D) do without (c) To leave no stone unturned
82. ”MO_H is a fierce wild animal.” (d) To turn over a new leaf
In this sentence (the underlined words) i .
‘The lion’ stands for - ' ) Colum - (B Meapm "
(A) alion formally discussed (i) tosuspect sometlng wrong
(8) a single lion (ii) to make every possible effort
(C) the whole class of lions (i) to make a fresh start
(P) a particular lion (iv) A Special/noteworthy /memorap|e
83. Change the voice of the following and occasion
g‘llwose ‘the corl]'ect option - (.2) a-(ii), b-(iii), c-(iv), d-(i)
here 1S no charge to make against him. S -(0), c-fii) d-(iii
(Change into Passive Voice) (z) 2 (1)/),‘: (l) ’ (l{)’: (T”]
(A) There is no charge to have made against (€) a-(i), -(lf[)’ ¢-(1), d-(iv)
him. (D) a-(iii), b-(iv), c-(i), d-(ii)
(B) There is no charge made against to him. 88. Fill in the blank spaces in the given
©rT i - i ; .
hil'lnire is no charge to be made against sentence selecting appropriate set of words
(D) There was no charge to be made against from the following options -
& 1-
him.
Sentence: Contrary to popular-.......... that
84. Complete the sentence selecting the correct _ SRR :
preposition from the given options - money is power, [ ............. that knowledge is
NA new bridge is being built ......... the river power.
iger.
(A) at (B) in (A) believe, belief (B) beliefs, believes
(C) durin (D) on (C) believes, beliefs (D) belief, believe
'8
85. Choose the correct meaning of the idiom - 89. Choose the correct option :
‘Feeling under the weather’ means - ‘Do you know when she will go home? I said
(R) refreshed (B) ba'd weather to him. (Change into indirect speech)
(©) to feel ill (D) rejuvenate (A) I asked him that did he know when she
86. Match the words listed in Column (A) with ‘would go home
i in Column (B) - '
thegoslﬁr:s?fr?;;%srés (B) (B) I asked him if he knew when she will go
(a) Access ~ home.
(b) Retrieve (€) Tasked him if he know when she would
(c) Ameliorate go home. ,
(d) Alter (E) l'asked him if he knew when she would
o - Syno S go home.
(i) Improve 90. Fill in the blank Space in the sentence .
ii) Change ; .
8:3) Apprgoach choosing the right alternative from the given
(iv) Restore options -
(é’ a-(iv), b-(iii), c-(ii), d(l) “A kangaroo can JUmp... a rabbit.”
(B) a-(ii), b-(i), c-(iv), d-(ii) . o '
(C) a-(iii), b-(iv), c-(i), d-(ii) (%) higher to ®) highest than
(D) a-(ii), b-(iii), c-(iv),d-(i) (C) higher than (D) highest to
B e I
106-B f{ Page 14 of 16



32.

93.

94.

e page 15 0f 16

ST 3 hALE £
()3““3“
® 9 - v ST, Sy
© fr- f ifm
O N — gy T
Pt T T
}ﬁ“liﬁmﬁ
Bﬁiﬁaej%m -
o ﬁiﬁ‘?ﬁa%ﬁm_

(iv) s BTge
—II
(@) T erere gy 2o
(@) i & FH 7 AN qre
() &7 =0 S
(&) &9 fezgm
(A) (- (). (i) (@), (ii)- (=), (iv)- (@)
®) (- (M. (i)- (). (iii)- (@), (iv)- (@)

(©) (0)- (M), (ii)- (=), (iii)- (), (iv)- ().

(@) (i)- (). (ii)-(=), (iii)- (M), (iv)- ()

(A) ST, ATegaTe, g
' (B) Fif¥e, wrafufd, 3mears
(C) wrefnqger, wAf, ST
(D) Tegeifen, wAfae, e

(A) e, e, RIS, FRIE
(B) fa, €A, FHIT, T
(©) e, e, FeTED, T
(D) eretora @, T R

106-B ¥

e 4 9 forg Qe & o o g8 87

ey frpe & Wl v TR v € -

—

96.

97.

98.

99.

-

95.

ﬁf?ﬁﬁmﬁﬁaﬁqwg_

(A) Aferes — arfee (B) wgor — favrer
(?)?ff—TﬁUr (D) qeRra — FURTE
o e o W g g 7
(A) M, W F  (B) T, e
@@ sgF (D) 9rh, AR
w2 TR & iR frees BT T
v

(A) 1Y + IR = TRy

(li)ag+s%m=aﬁ7m1

© 7 + R = R

(0) ¥ + STER = HrITHN

I fawme &1 Tge difon —

(A) e @ e T e — et
(f)ﬁaa%a%ﬁuﬂmm—mmﬁ%
(C) wda @1 e ¥ W — Sy

(0 Rorer oo T R & — et
100.

ﬁﬁﬁﬁ%ﬂﬁﬁ%ﬂ»ﬁmwziﬁﬁ
AN $ ISTex0l §7
(ﬁ)w.wﬁi

(C) Tom, gt

(8) i, e
() Ficira, s
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2 DI T 5 = 25y 5
\")L

E'BF\ Q ‘ 2 =

10624165

1062416591

416591

1062

e — qufam & — 7o ufd v f*ﬁrfr m lT"]é:ﬂ e SE: q.sm BT ©
& < uferr fer BT AU, TEef v d ufy o
EELg
oy @1 e g oA B BT 9 61 ger ufr @ we e 9 Hrs
Tt

qferedt @y @ | aheredf B W B s ey @ o
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